NOLEAHEKTL  PROVA SCRATA dir
MOALsE 2 il 24/40 /2049 O

A) Z5ui=Z 21 () ~Z2 )

myA
n

Ruwiwo t- £ o sws Z 2=t

Mt

c
COW)'@%L &MW 0 SeiEEre) it
M&/&M e C-,{),()
R t=rd B2 = 2 ed Ao

uschs (o souig No) comverge negl0 enbans




z5 oS _s—(o — )
<:> . > 2_
_ O
§Oy=C = —:‘9‘—&@0):@
g %/e
OF (00)= b [w(m] 3 _
X / >0 O <« wnrd
-4 >
e T 1% = ﬁw@ f = A cem=
?\?‘O ﬁ;z, >0 3/ So %43

DERIWATE  DleEatobaLl {pe o #0);
n-3 m| O Se !VL>5

m[@f{:"—:m{ oé,jdf 3

g ® sw(t) 1t fog i/ 2 M LD
= § NON DISTEE RERZABILE
per m= 2.

Vogioe



















7

_ ” -
A" ’ = S

:_&—L)%eu

P

(]D./{> (J~a>
(J—b} (A+ad

)




